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the two sides are measured as 24.0120 in and 1.9998 in.

15001b

find the maximum bending moment.
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1. A tension test is performed on a bar of an unknown material to determine its material

properties. Before the test, the bar’s dimensions are 24 in X1 i;@,X 2in. A 1500 b force
is applied to the bar as shown in Figure 1. While the force is applied, the dimensions of

.

(@) What is the value of the elastic modulus for the material? (5%)

(b) What is the value of the shear modulus for the material? (5%)
(c) What is the length of the 1 in side when the 1500 [b force is applied? (5%) -
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2. Draw the shear and moment diagram (V-M diagram) for the beam shown in Figure 2 and
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Figure 2
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3. Describe the differences among a rod, a bar, and a heam. (15%)
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4. For the beam and loading shown in Figure 4, determine the magnitude of P if the

maximum shear stress in the beam is 1.82 Mpa. Compute the maximum tensile and

compressive stress in the beam. (30%)
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Figure 4

5. For the truss shown in F igure 5

(a) Determine the forces in members LM, G/, HI, and HJ. (10%)
(b) Identify all zero-force members in the truss. (20%) '
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